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FINAL EXAMINATION&PHARMLACOLOGY

| | July 2nd 1985

| Name | Score

Type A : Indicate the single most appropriate answer.
1. ﬂftér.rapantud administration, the response of the body to drugs is raduued;
this phenomenon is called
Ao Selectivity of drugs.
B, tolerance of the drug.
C. dependency of the organism,
D. habituation,
E. neither is correct,
2, According to the eurrent concepts, receptors can be divided into 3 types.
type I recepiors are located
i ' A. on the external surface of the plasma membrane

B. in the cytoplasma.
Ce in the cell nucleus.
D. in the mitochondria.
B, in the 9ndeoplesmic retiemlum. . , ARG S L.
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3. On the basis ofseg6nd messengor theory proposed by sutheland, the second
messenger j& _ Q
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| F”J 4, Use the graph selow to enswer the questions.
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0. the afﬂuaq of "a" drugds grqa.tq: th.an that a:t "b" drug.






